
Allianz	
  Beratungs-­‐	
  und	
  
Vertriebs-­‐AG,	
  Südost,	
  
Unternehmensberatung,	
  

Auswirkung	
  der	
  nachgelagerten	
  
Besteuerung	
  

Beispiel:	
  Steuerklasse	
  III	
  

Für	
  einen	
  Beitrag	
  von	
  monatlich	
  100	
  EUR	
  in	
  eine	
  bAV	
  	
  
wendet	
  der	
  Arbeitnehmer	
  nur	
  57	
  EUR	
  auf	
  –	
  
der	
  Staat	
  „beteiligt“	
  sich	
  mit	
  43	
  EUR	
  an	
  der	
  Altersversorgung	
  über	
  den	
  Betrieb!	
  	
  	
  

Monatliches	
  BruQogehalt	
  

57	
  EUR	
  NeQoaufwand	
  für	
  die	
  bAV1	
  

Gehaltsabrechnung	
   ohne	
  bAV	
  mit	
  bAV	
  

2.500	
  EUR	
  

Monatlicher	
  Beitrag	
  zur	
  bAV	
   100	
  EUR	
  

2.500	
  EUR	
  

SteuerpflichVges	
  Gehalt	
  
-­‐	
  Steuern	
  
-­‐	
  Sozialversicherungsabgaben	
  

2.400	
  EUR	
  
121	
  EUR	
  
491	
  EUR	
  

2.500	
  EUR	
  
143	
  EUR	
  
512	
  EUR	
  

Monatliches	
  NeQogehalt	
   1.845	
  EUR	
  1.788	
  EUR	
  

2.500	
  

1	
  	
  Bei	
  Lohnsteuerklasse	
  I	
  beträgt	
  der	
  NeQoaufwand	
  51	
  EUR	
  


